James Dewey Watson

NAME:

CLASS: DATE:

Circle or tick the correct answers

1.

10.

Who was James Watson?

A- American pilot

B- American biochemist

C- American educator

When was he born?

A- April 6,1928

B- April 6, 1938

C- April 6,1929

Where was he born?

A- Chicago, lllinois

B- Willoughby, Lincolnshire

C- Franklin County, Virginia

What was he known for?

A- Colonising America

B- Discovering the double-helix structure of DNA

C- Discovering the sea rote to India

He was also known for sharing the 1962 Nobel Prize for medicine with Francis Crick
and Maurice Wilkins for the discovery of the structure of DNA.
A- True

B- False

Which universities did he attend?

A- Chicago and Indiana University

B- Harvard university and University of Watson

C- California Institute of Technology and Harvard University

Which universities rejected James?
A- Chicago and Indiana University
B- Harvard university and University of Watson
C- California Institute of Technology and Harvard University
In 1961 Watson became a full professor in which university?
A- Indiana University
B- Harvard university
C- Chicago university
After graduating from Wayland Seminary, he became an instructor in
A- Hampton Institute
B- Wayland Seminary
C- California university
Watson entered the University of Chicago at age 15.
A- True
B- False

www.greatsocialstudies.com



James Dewey Watson

10.

ANSWERS IN GREEN

Who was James Watson?

A- American pilot

B- American biochemist

C- American educator

When was he born?

A- April 6,1928

B- April 6, 1938

C- April 6,1929

Where was he born?

A- Chicago, lllinois

B- Willoughby, Lincolnshire

C- Franklin County, Virginia

What was he known for?

A- Colonising America

B- Discovering the double-helix structure of DNA

C- Discovering the sea rote to India

He was also known for sharing the 1962 Nobel Prize for medicine with Francis Crick
and Maurice Wilkins for the discovery of the structure of DNA.
A- True

B- False

Which universities did he attend?

A- Chicago and Indiana University

B- Harvard university and University of Watson

C- California Institute of Technology and Harvard University

Which universities rejected James?
A- Chicago and Indiana University
B- Harvard university and University of Watson
C- California Institute of Technology and Harvard University
In 1961 Watson became a full professor in which university?
A- Indiana University
A- Harvard university
B- Chicago university
After graduating from Wayland Seminary, he became an instructor in
A- Hampton Institute
B- Wayland Seminary
C- California university
Watson entered the University of Chicago at age 15.
A- True
B- False

www.greatsocialstudies.com



